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miEE |MhA| 5 | KE (%faf)] k=
L4 i3 2 474| 480,900 |#)4E4
L4 i3 2 492 173,250
L4 i3 3 474 126,000
L4 i3 3 650 116,550
L4 i3 4 504| 137,550
L4 i3 4 588 96,600
L4 i3 5 636 76,650
L4 i3 5 661 151,200
L4 i3 6 562 93,450
L4 i3 6 684| 135,450
L4 i 6 810| 215,250
L4 i3 7 497 30,450
L4 i 7 631] 137,550
L4 it 7 763| 177,450
L4 i 7 772 178,500
L4 i3 9 853| 227,850
L4 i 11 763] 131,250
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migd MR 5 | KE (%f(?f)] &%
F1 = 3 720| 601,650
F1 = 3 762 664,650
F1 = 3 778 682,500
F1 *= 3 780 696,150
F1 = 3 794| 579,600
F1 = 3 814| 600,600
F1 *= 3 821| 736,050
F1 = 3 873| 645,750
F1 = 3 906 811,650
F1 = 3 955| 697,200
F1 i 6 640 248,850

X BELTVAIREEFERRIIFTY,

T BT

R |MHA| BE | KF | @&Era) | RS
HE i3 42 59| 172,200 [{AA
%Ej%ﬁw Vi3 51 85| 285,600 [{AHA
8 i3 63 61| 214,200 [{AN
=] i 85 107 265,650 [ZERAT{A4}
TREA | 100 106| 291,900 [k
tFER | 101 111] 317,100 |{KA
#18(K) |1 121 115 233,100 [{KM
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migd |Mh% &% | KE (%;falm)] &%
GG i 1 81| 201,600 |AIEF
4 i3 1 50| 220,500 [AIEF
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migd |Mh% &% | KE (%;falm)] &%
M4 i 2 342| 288,750
4 i3 2 400 268,800
M4 ik 3 648| 816,900
GG i 6 339| 139,650
M4 it 6 386 69,300
M4 i 6 480| 184,800 |3TiR4
4 i3 7 666 298,200
M4 i 8 352 88,200
GG i 9 668| 280,350
e i 9 708| 241,500
M4 ik 11 434| 225,750 [3EIR4E
4 i 11 545| 135,450
4 i 12 465 102,900
M4 i 13 370 54,600
4 i3 13 460 57,750
me ik 13 539| 155,400
4 i 13 661) 279,300
e i 14 724| 285,600
4 i 15 428| 157,500 |WEYRAE
4 i 16 548| 100,800
me i 17 481 52,500




